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(F}  Question nol attempted

) .
mamﬁmﬁaﬁﬁqﬁ?ﬁaﬂﬂuf@ﬂwﬂmﬁﬂﬁw ]
e P 5 AT o féra

(ﬁﬂﬁhﬁﬂﬁmﬂmﬁﬁm:ﬁj

f'rl..ll.lf wa

(B) mmmﬁnﬁﬁﬂﬂ'ﬁftﬁhﬁiﬁmfﬁtﬁ 2 o
(C) =.41mmdmmm%.mmmﬁ_m1mmw :
(D) mﬁﬁm%wmhﬁmmﬁmﬁmm%ﬁﬂ

(Ey Sl o

Which of the following parts is related to the Directive Principles of State Policy in Indian Constitution?
r i s s Trate @ Fer O @ FE-AT W sirfter sifenary & w87
B) VI

M|y

(A) V
V-A
Question not attempted | SR T4

()
(E)

;

The words *Socialist and Secular’ were added to the Preamble of the Indian Constitution by:
(AY  42™ amendment () 4 st
O (D) 41" amendment |
(E)  Question not attempted ER:EsrilT |
A % wfra i e & e “Socialist” (FETaETEn T “Secular” (SrifdEn) i il R |
42 57 Hw . Yo
f 4&-41“-'_‘“—" ®). 443t
\ HIT -
. D
B} wemim oy G |
] Choose the mo
5t appropriat 1
e Priate reported form of the given sentence:
- H ot walk on snow, T isny Safe" :
o HE S8 10 18 noy walle On Enow for it gy fi
e Hn: 10ld ws thay §y i5 not safe to wall i
" Of snow
BN ed them by unsafe it ywag 10 walk
] amed us not g witlk on gy gy 1
- Q\::mn Tt uthmp‘ud At AL fc iy
U]
The p::l ppropriage form ofthe y b
Wiy £ in i i l
) wangy, the waitin, 00 are reg e e
Aer 5 iy, ey .
c 1 Ouncement thgy i
" = the try
s 5y i in late,
ey 4 Mpiog ©
5
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f 1dentify the grammatically mosi appropriaté sentence from the options:
(A) Ina week's time 1 will have completed my work.

}Brl In a week's time 1 will be completed my work.

(Cy Ina week's time 1 Wﬂ!ﬁ complete my work. o
Dy Ina week's ime 1 willsggmplete my work. =p
(B) Question not :memmep ©
7 Choose the most appmpn'u:ﬁn_assivc form of the word *Mistake' 10 complete the senle&:
The meter reader  gefora burglar by the landlady. _—
(A) was mistook =) (B) was mistaken h
{ has mistaken ™ (D) mistook L
(E) Question not attempted
g el e A e By ™N
@A) % o ®) T g
c = o o =Té O
(E) FAE 59 r~ ™
9 aﬁaﬁm'm‘mﬁaﬁﬁﬂﬁﬁ:ﬂﬁﬁﬁ%- —
(A) | 4 (B) =0 ﬂ
_Jey e (D) =
(B) Fana ol
10 ﬁmﬁlﬁﬁﬁ‘m'ﬂmﬁ'm e B- g
(A) TTEH g B) S o
’JGT"’ LaLly r~ (D) T Q
(E) SR WA — ™
2 11 Indira Gandhi canal 18 sit—uaﬂlﬂ which of the following regions of Rajasthan? E
(&) Western Desert plain Kefion () Aravali Region i -
(Cy South Eastem Region (D) Semi dry Region
(E) Questionnol attempte o
ffey vy R TREAT = 2y o & T st &7 <
Mﬂﬂ’r;&‘;ﬁﬂﬁﬂ‘ﬂ? (B) e g
©ET . ) sf
® AR o redks :
12  The moist deciduous forests geq not found in which of the
followlng regions of Indi [+
In
(a‘:’i Noﬁl.hcu.smrn States @) E 2 s of India? g
(C) Peninsular plateay ol ) Fmtm““ opes of the western ghats
(E) Question not atiempredd ills of Himalayas o
- sy o e 3 ¥ (8 v eofrrely =1 =Tk v = <r
- (A) SEEl T ~ ~ (B o
(E) St A h | Temmer =y firfe ™~
o) # i —
3 L]
i

[ RT.0
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I

LA L L1 C k ASLElE e

]‘ 'li:li1 [iL]ll\ lLI\ i - U‘n'ﬂumilﬂu
ollowing 5 '[|l1\'\TI'\[]'| U‘df'ﬂ m ast in

L | T | [ [ J lf I- :

(A) Amrapali (D) Ahar

(cy The Crystal Gallery

(E) {}Llc:;l'iﬂ::nntil'.IL'mplL‘d . q . 1

quﬁﬁﬂﬂﬁmrmm‘mw‘r«—aﬂmmaﬁwuamm%i

E"-"'.‘ TR (") H_-i(rq iG]
(D) SES

s
() e et
(E) AIE 9

14  There is certain reln

tionship between the two terms [0 the left of ;; and the same relationship exists between

the iwo ferms to its right. Find which option would replace the question mark?
;;%mﬁ&nﬁ%m@am%ﬁhmmmmmaﬁ ¥ 21 921 oo 2| WHET 6E 6 3
a7 faeed 1 vl Ay
324 ; 289 12 2561 7
(A} 20
ey /m{ 225
(C) 36l
. (D) 125
(E)  Question not attempted / 30 75

15  Find the
l;:j;m.|1-u111hcr‘afln:t_|1 gles in the given figure:
A &1 I8 3T 7 et 1 v TR
X s
€ n
® g (B) 16
: MESTION oy g, D
T Lo Wy : ™ 13
0 E"C'-'D'.‘E'm:f:j i
of°E", *A" is betw ' Are sittin
e e £ around
KB oo o P and g g 'C S not in eith
P * Opposi " Cither of the nei ing scals
S T . B o PPOSItE to ‘D", Whg i r of the neighbouring s¢i%
R TR - Who is opposite of +f:
Jéﬂ/ B Ty E' .D‘gﬁ & aET:’E?IT %| I-Cl. .E,% Z;r E'?
L s (0 Lt a“i‘,—" A "
© b F S W 2 dar 2 Rl #ffe e e daT ) AT
(E} Quiestion g () :
170 ey .
n o row of childr, En]‘ ed S Dy A
by three places 1oy, ey fifiy
3 irily from 1y
Wﬁﬂﬁﬂﬁﬁﬁ‘ﬂm“?ﬁ.hgm o elefy e
- e
#mmmt.ﬁ] m%qﬁa tenth To Thﬂ 's“¥2|nh rr{}m the Y
A) 22 “‘ﬁﬂﬂﬁ T g cleng, How m, € right end . If Praveen shif®
: any chj :
€ 26 bk “ﬁ'l'*‘*'ﬁrrh : e ; children are there in the %’
(E)  Question nog allery 'ﬁ'ﬂr qﬁﬁﬁ'ﬁ;‘._ﬁiﬁ ‘“?Iﬁﬁua"m,ﬂﬂl:ﬁ}ﬂf
TI9] # PEd o AL =
Hep Yy
0
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18  Choose the most appropriate statement from the following:

&Y A notice is distributed to the selected people in an organization.

(B) A D.O letter is written by an authority to the employees of that organization.
(C)  *Yours respectfully’ is the appropriate subscription for an informal letter.
(D)

The format of the date in an official letter is 01/04/24.
(E)  Question not attemnpted

19 Choose the maosr appropriate word to complete the given sentence:
The boy crawled the fence to enter the garden.
-"LAT QUL ' (B) under
(€)  near (D) above
(E)  Question not attempted
p
20 Choose the maost appropriate word to complete the given sentence:
His ideas on the link between art and culture in Asia do not conform the generally accepted
theories.
flﬁl] into (B) with
,LG‘TF‘ ta (D) within
(E)  Question not attempted
21 Choose the most appropriate English word for the given word:
EWTTFT
(A)  Abatement (J'B}"" Abalishment
(C)  Apartment (D) Abetment
(E) Question not attempted
22 Choose the word closest in meaning to the underlined word from the given options:
During the course of the interview, she refused to answer the question that infringed on her personal life.
(A) ingested (B) .mtusled
,[(’_’]‘/ invaded (D) ingrained
(E) Question not attempted " :
23 Choose the most appropriafe word similar in meaning io NONCHALANT
imns clion
{A) insubstantial BT _“""l-'-"f":
A (D) indifferent
(C) intimidating
) ed
(E) Question not attempt W2 ;
. T ialysed by the product formed iscalled ___ reaction.
24 The reaction whlchdm catalyse T
{A) autocatalyse G an At
(Cy displacement
. o
(E})  Question not attemple N "
el w1 A AR, fifa weemmt
= srfarfa R 300 L =
(A} EREOAT P A
(cy foreams
(B) st od g
T H
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Pl =%

ot in aldehydes 15:

: SC
75 The fun:npnnl group pres 2
feagge & R A (1 A
H
| Y B) — (o=
== ]
0 = o
T Il __ouh (Dy — OH
L-_'I:l
(E) Question not attemipted / i WA
26  The [UPAC name of the given compound is:
A p—
CH,4 1
(A) |-Methylbutane - (B) Pentane k -_
0
Loy~ 3-Methylbutane (D) 2-Methylbutane |
(E) Question not attempted el
CH; —CH— CH, Ot firt w7 =Hfirer %1 TUPAC 719 8:
(A) 1-Tratseges g
(C) 3iwEEsEsm o B e
(D) 2-frumespa oy

JEY N
(E) SEAas®

27 Rajasthan Value AddedTFax Act w
: as passed in which 2 [
rrea R e year? O
(A) 2006 ™~ @E‘hm&ﬁ;’h B O
(€ 2010 .—1 2007
(E) Question notatlilpted / o (D) 2003 ™
28 Where is Dhirubhai Ambani b
Solar Park loca "
(A) Dhursar ted? Y
(C) Kavai &y (B)  Suratgarh
(E) Question not ““&Fleﬁ (D) Ko o
TS ada'ﬂ'ra‘rrmi%q{%h =it
(A) me o h g
= | ) g
(B) sgafass (D) =y e~
29 Which of the following-ig the ™
(Choose the mas I'ﬂl ;::}frfu:gﬁ;::;::j:r coal-based Therma) Payy h
52} Kota Thermal Pawer Plang fom below:) er Plant in Rajasthan?
) Kalisindh Thermal Power Plag, (B) s
% L Uratgarh
(E)  Question not attempted (D}  Chhabrg pzi“-'er et
Vel w%aﬁ:mmﬁwmw% erplg
oz E‘mm#mmgﬂ;ffqﬁi:] PR Ty fereer st E
EE; mmm!ﬁ@‘;m :E; e fre e
) smimwr © Wraray Farege s
19| # H
1

| [P'T.'ﬂ-
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30  Which site of copper culture was discovered at the source of river Kantali at Neem Ka Thana?
(A) Bagor (B) Ganeshwar

(C) Ahar (D) Gilund

(E) Question not attempted

<fisr 557 ST B STt 7 36 I AR WL H1 A G T @it

(A) @R By T

(C) &S (D) frers
(E) FHE w4
31 Which of the following kings of Kamboj has created four scriptures of total 326 Paragraphs?

(A) Yashovarman (B) Rajvarman

(C) Jayvarman (D) Bahuvarman

(E) Question not attempted
PR 8 & i 3 o T 3 Tt 326 S 3 ST T T T A7

(A) TeEE By T
(C) vEaHd (D) =Eaud
(E) i 9
32 Which temple is called ‘Mini Khajuraho® of Rajasthan?
(A) Temple of Kiradu (B) Rani Bhatiyani Temple
(C) Shree Nakodaji Temple (D) Ramgarh Bhand Devra Temple

(E) Question not attempted

e at i @Er fop mfeat i et AT 87
oy g R

(C) #iranreT St A=t

() Fuia =

(B) T e it
(D) TG ¥ ZaU AT

33 How many true breeding pea plant varieties were used by Gregor Mendel for his experiment on artificial/

cross pollination?

o7 e F 3T HOH/MAT o SR 3 R e B oy o P 9 e fore I
AR T ®) 14

(C) 10 (D) 8
(E) Question not attempted / FTTAE T

34  Select the camel breed known fo have excellent swimming capaci
(A) Jalori (B) Kharai
(C) Mewari (D) Malvi
(E) Question not attempted

éﬁ#mmaﬁgﬁqf&mﬁﬂﬁwﬁﬁdaﬁmm i

ty in seawaler.

(A) e By @

(©) (D) et

(B) SHERANA [ P.TO-
T19] # 7

—-__—4
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26

~— -

(¢
(c
(E
27 R:
s
(A,
(C)
(E)
28 Wh
(A)
(C)
(E)

(A)

(E)
29 Which
(Choos
(A) 1
(C) K
(E) ¢
et
(e z
w5
(C) ]
(E) ==
T19] # 1

and is diagnoscd with ‘Beriberi'. Which of the 1,
¢ we ness ; iy -
yaving gymp om of & : dicine and diet .
s ¢ o :I  be su'.“[‘“’““:m':d fIRE: (B) yitamin €
amins wou s /i
:\3 /jtamin B ol (D) |
' . D | L
aR ; ! s 2 ey A &) e Ed ® & Fh g,
(E) Qui:s'.:.on not alie_gﬂ;::d ) T Anss a‘ﬂaﬁ T ) ”
aqefi P <
ﬁwaﬂﬁ@mﬁﬁm (B) fererte €1
,L"l‘/ i H (D] FaE'[ii:H
¢ fefEd vl |
i i 202
(E) FqE@ s he Advocate General of Rajasthan as O 6™ September 20247 iy
L e ¢ fﬂuﬂ“"?h‘- i (B) Rajendra prasad (?'UPIn
e ok (D) Jitender Gupta |
() Bhupcnd:a Meer_ﬁ:
. d .
E) Questionnot attempt® : :
( o A T s.gﬁqgﬁmﬂwﬁmﬁtznzﬁ?naﬁﬁj;?mm i
! 3 = 3 £ 40
(A) safier G ,(ei;’ e ‘
© wwEem Bz
() a4

37  Given below are tWO gtdtements:
statement (1): The highest unit of Panchayati Raj system, is Zila . -
i5 a sﬁ‘{:ewising authority regarding the execution of theé-plans and projects &%
- ]

Parishad m' District council. Tt

development and progress

i
statement (I1): The Z.i_ﬁx Parishad (District council) is organized by the direet

L

elected members e 41
areas i :'é MLA’s, MP'S from Zila Parishad. !

ot 1

In the light of the above statements, choose the most appropriate answer ffaﬁm the options gived ol
(A) Both Statement (!I) and Statement (IT) are incorrect.
(B) Statement (I) ié&iuma but Statement (I1) is incorrect. ¢ '-1.
(C) Statement (T) i§ incorrect but Statement (I1) is correct.  ~ \f
(D) Both Statemerit | P
; emcm_@ and Statement (II) are correct. -

(E) Question not alit ted % 2
A o [ 2
Faa R d gy it At
FUF - (1) : TEEE T =

mﬁaﬁmﬁm‘ﬁamm%ﬁgﬂmm@ fren

i T e ey e i S T 6

m-ﬂl]:ﬁmmﬁﬁ ) I
mmﬁﬁﬂﬁﬂ'%l Hiiﬁllﬁwwm%mﬁﬁ@ﬂ

T e e B < |

(4)  F o Hatferes o e ;
(1) SR F (1) B e 3 :ﬂrg?m?. - tl“"ﬁ! -

© = (e B ABY o () T € w0
€) smfawa 9 T (D) m{u})aﬂw‘zgﬁﬂﬁm
Ti9 # i "

ol
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40

41

42

TI9) H#

e the names of G .
Artan g Govermors of Rajasthin in the chronologleal order:
o Sho Raghukul Tilw )

b, Shri S :

e, Dr Sampurnanand® l; :;In,:ut'll; Dev I;r:;:d
TR RG] :m%% : . Dr. M. Chenna y

el '11wm%mﬂmfnmmi_ pal

o g fre (O

b AgEEwE
I L UL O b it -

_ - 4, ELum aEEd
Choose the most appropriute answer from the options given below: o

m&hunqﬁlw-ﬂunﬂw’mmwgmm—,ﬁ: ot
(A) bhoead
(By ¢bda

€ cabd o ’;n('u b, e d ol

() Question not nilc;'n{\[cd | st v <

red blood cells of whichaof the following blood groups contains both A and B antigens?

fyve i 41 o e T oierre 1o TR o A T b A e i) R T &2

(A) B | A 'l
© © oA D) A &
(E)  Question not ulwIn:nc:I ! wgﬂﬁﬂuﬂ r
A person with blood antibody B can recieve blood from the blood group of:
(A) BorOonly (-, ) AorBorAB or O dnly
(C) Oonly = (D) AorOonly P
(E) Question not attempited P
wwf%fmﬁ:rﬁﬁliﬁﬁzﬁk,faﬂﬁﬁnwaﬁmﬁmm [
(A) FASABUATO ,',: (B) ¥ ATB znfﬁ;imo
(€) ¥AO0 i Py FEATO
() srafawa
Which one of the following is the State tree of Rajasthan? o
(A) Khejri = (B) Rohida o
(€) Saal g (D) Deodar =
(E) Question not atteppted &
ﬁqﬁwﬂﬁﬂmumnmmqmm ¥
(ay T o (B) ife=r o
(C) el L (D) @FR I
(B} 4 a1 | ol
Spirulina is a good sourceof- <
(A) Vitamin C Q (B) Carbohydrate o
(C) Protein o (D) Fat Q
(E) Question not aueEﬂlcd l;{
e sreoT A B ) sy N
(A fredmca o (B) il ot
(D) |
A
(E) o 94
9

[ P.T.O.
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48

49

30

51

S2

A solid right circular cylinder has height 17 cm and its radius is 8 cm. The cylinder is cut in three eq
(by 2 cuts parallel to base). What is the percentage increase in total surface area?

U 3N Tl I ST T SeTs l?ﬂﬁmﬁmaﬁﬁ%lwﬁmﬁmmmtmm%

aﬁyﬁmwmﬁqﬁuﬁmﬁq@aﬁruﬁmw%ﬂ N
(A)  68% ! '_

(B) 79%
(C) 64%

,. (D) 50%
(E) Question not attempted / 31qfd 54

Where is the Institutesof Development Studies situated?

(A) Bhilwara (B) Jaipur -

(C) Mount Abu (D)

Udaipur
(E) Question not allcmplcd N
o steram Hmﬁ‘af&ttqtf%aﬂ%‘? -t
(A) fearer , ABY S -

;I]'\.f

(C) WIS AT

(D) 3?91'3'( o )
(E) mﬁana P~ "

Where is thc Centraldnstitute of Arid Horticulture located? 3 _']{
i B) Bikaner &
Hal g . \ {D) Chittorgarh J
(C) Shriganganagar’ (
(E)  Question not anempled o
feera 22
AT [ AT S el T o AT ot
(A) SR < Rt O
(€ i (D) 1$7% pr
oL - ~
E) S i d in Rajasthan?
f Fashion Technology situated in IRaja: v
Where is National lrfvsqrutc of Fas EYSPIVE =
(A) Udaipur h (D) Jodhpur 1
(C) Kota .
(E)  Question not attempted 2 o~
T ST [T H AT .
iy ik 8 AB) AR <
(A) IR o (D) FUgL o
(C] iﬁa ( r::uw“ in ﬁgurrj.
E mﬂ“ﬁ“ wa .nce 15° 0 jane mirror (05
(A:'ay of light is ln(;Iant at an angle of incidence 15% ona p r iy S E
The value of X is: mwlse#mmmmﬁﬂﬁmtﬁmﬁ
WerTaT =R ueh AT HW
HI BT~ = o~
Normal <
i S
Q
Al o r~
x O g"{
} 5,4 78 2 o
45" nr.
(A) 65° .-| "= 22, i ‘
:E; :?sueulion not atempted 1"

To) g4 <




ductive stage 18 less tha
ver 0 mcmberq 1n pre-r{:pro
. vhere number
cofect the status of population where i
- e B) Declining
in n:producme stage: s
(A) Stable ds (D} G
() Stagesnol affecting each ot 1er | | ' ﬁﬂa
(E) Question not attempted - 4 i
i 1 3 e 1 T A e Wgﬁ;“ it T
(A) T > ERE al% HE??iI
-J‘G’/W@@ﬁ?rwﬁﬂ#ﬁamﬁ%l D)
(E) T4 ) K
Sk : ‘Ecology’ in India’ .
Gt considered as the father of *Ecology” 1 Panchanan Maheshwarl

(A) Ramdeo Misra U]?;] e
(C) Lalji Singh D) C.V.

: .stion not attempted
(E) Quuhﬁllaﬂﬂ%ﬁ‘ P '%m#wﬂmmm%ﬂ
}M"ﬂﬁ:ﬂ'ﬁ'ﬁfm (B) qﬂﬁqﬁﬁ’ﬂﬁ'
() = e (D) #rdE T
(E) HaRa¥d
55  Which among the following is produced by a fungus?
(A) Butyric acid (B) Acetic acid
(C) Lactic acid (D) Citric acid
(E) Question not attempted
Jﬁ;ﬁﬁ 1 U A G FeAMA Bl 87
Eli:c'ﬁﬁ et Qﬁiﬁﬁ
(C) wifdesh 1=t EIB))) e i
(E) FORaTq S
Read the passage carefull :
SNt Ggu : y and answer questions that follow by choosing the correct option:

While working in the establi:
shments of Spac and Atomi gy, Dr. Kalam
2 . pace Defense Res; i
€ best human beings and the most innovative minds wer o e DK e
g

also found in all the scienti pres: i S
tists . ent here, i
failures contained within ahemasem:—t.ef?“"_lf’gls‘f‘: ey were not afraid of f ]»‘1 IRy Onc comumon 12 5«“—‘*"“2
VE r ol atlures dun . rsuits be S
s the seeds for ﬁlrthETéﬁfﬁing @hicﬁﬁ%_lg_qg" LG PRI ﬂau
2 uld lead to better technology*

. ‘ if he kee f all
ty, o : ps abreast ©

Y, by Iway Ormkingqn r:;::lmi education. The second way isto deve ;

g nsibilj : Laye

free and w cedom they wished YOUE fate 10 oterg, yy; ¥ 10 work for the things YO Bl

A8 never free agaj for most wag g ers. Historian Edith Hamilton wrot€ © g

amilton b

0

freedom, We ¢ again, The truth | reeqd
g an 18 om fro )
b that there m responsibility, then Athens €5 s

deal that m :
0s C 108
om,* ress us, We can . L of us can do 10 e nﬂ|iDF

fnmfy ourselves with the 4

12 ’
(et
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o) # 13 gers

Kalam is neither an orthodox nor & conservative religionist. He has a scicnfiﬁc temper blmd:m

?p?ﬁlualil?- Drawing an analogy between science and spirituality he says, “Whlm‘hﬂ :]d:ivj(h::l
joning, spirituality is based on known principles; bothofw I.ea.d onctoseek_ c;:dan :

filled with humanism and loved and renowned by the entire nation, wnb'oul any barriers of age oummnn‘gl
w[ndia must stand up 1o the world because 1 believe that unless India stands up 1o q:: w?rorld. no one
respect us. Only strength respects strength.” So said Dr. Abdul Kalam, the nucleaf SCfEIJtISl who developed
and structured India’s missile arsenal, He belongs to the world of nuclear weaponisation and has supported
the nuclearisation of India consistently.

According to Dr. Kalam, the element that was wmw the scientists and technologists was:
(A) They had spectacular achievements They were not afraid of failure
(C) They were great dreamers (D) They were best in the world
(E) Question not attempted
According to Dr. Kalam, personal freedom can be achieved only when
0. You empower yourself with knowledge
b,  You free yourself from all responsibility
¢ You develop a passion for personal responsibility.
d.  You develop courage to be responsible for the work you believe in
Choose the most appropriate answer from the options given below:
(A) b, cand donly (B) b, dandaonly

a, ¢ and d only (D) a,bandconly
()  Question not attempted
Dr. Kalam supporied nuclearisaion of India as he strongly believed that:

nless Indin stands up to the world, no one will respect us

(B) Knowledge is the most precious tool
(C)  There In o great deal that most of us can do to increase our freedom
(D) We can combat the forces that threaten to oppress us
(F)  Question not attempted
Dr, Kalum draws an analogy between science and spirituality according to which
6, Sclence Is bused on questioning whereas spirituality is based on established principles
b,  Both are arrived at by not questioning
¢, Both lead one to seek truth
d,  Both sre habits
Choose the moxt appropriate answer from the options given below:
(A) nd ¢ only (B) canddonly

nand ¢ only (D) aandbonly
()  Question not attempted

60  Muteh List-l with List<11

List=1 List-11

n Conservative L Using new ideas

b, Arsenal I.  To feel stronger

¢ Innovative III. A collection of weapons

d,  Fortfy IV. Opposed to sudden social change
Chooss the mowt appropriate answer from the options given below:
m-w.h-m,u-l.d-ﬂ ' (B) a-ILb-1V,c-lLd-1
(<) ..»i.b-!\'.c-ll.d-m () .-m,b-n.c—l.d-!\'

(E)  Question not sttempted
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N, o et and
 benefitied bY Gurgaon Canal Project for jrrigation:
15

61  Whichof {he following Tegions of Rajasthan

(B) Kola
(A) Jap et

() Jodhpur
3 uestion not attempted " . : N
Méﬁqﬁﬂﬁﬁmmﬁwwwmwﬂf"“?“”’--

(D) Bharatput

(A) Bl

I3 \ Fu ( q
(Cy S /D/

(E) i w4

62 Whatis ‘DIGGT construction?

(A) A teehnique of Hand Loom .
(B) Operation for restoring surplus water for field crops and agricpltural acuvities in canal command area
(C) Construction of pipeline for irrigation
Dy A new agriculture method
(E) 011:5qun not attempted
Fgay Fawion 77 &7
(A) T ) T A

BT et A wE it fafafi
() T ferm rggers 1 Fior
(D) i o 7 T
(E) il wa

Wﬂﬁﬁﬂﬁﬁmﬁﬁﬁiﬂm

63  Which is the oldest Public Sector u - ¢ Tyhe
: . ndertaking of Rajasthan? (C i L 4§
W g of Rajasthan? (ChdoSe the most appropriate option from
(A)

Rajasthan State Ganganagar Sugar Mills Limited
(B)

Rajasthan Drugs and Pharmaceuticals Ltd

(C) Rajasthan Electronics and Instruments Lid
(D) Hindustan Salts Ltd, iy
(E)

Question not attempted

TSEAT RN T At o - , ;
iﬁﬁﬁ%maﬂmﬁmﬁﬁHEWWmm

T 2 TR frew fefires

(€) T R v i o .
T T2 Sepview fofiee (D) %mﬁ%ﬁig
64 : first sgtelli q :
The first satellite launched by India into i
(A)  Aryabhaia N
(C) Ill':il~1l¢'\ ¥ =
2 ! Chandrayag
(E)  Quekti &
il Ij.,- n?n I‘l-lll. altempted e DEST I-IA |
R St 3 Wi gy ey EVET >
X7 g = i-.
©) 33 :
) A (1Rs). P -
1 n ) Sz
(E)  srfafo gy s
(D) :

9] # WIINS.‘\T]» 1A

14

[ PT.O:
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L s SV ; : . This distance
The least distance of distinct vision (or the near point) for normal eye is taken as 25 cm

2 - creases to 30 em for an elderly person. If the person tries to read a book at about 25 cm from the €¥€: -
image appears blurred. This defect of the vision of eye is called:
(A) Hypermetropia or farsightedness (B) Myopia or nearsightedness
(C) Astigmatism (D) Presbyopia
(E) Question not attempted
o AT 3 T 59 i < e it a foere fig) 25 @t ot el 21 o @ e % fere 7 28 sgeht 50
ot o €1 et 1 2% i 25 et o 1 8 ere e o e A 2 Wi (GST) ST Sefer €T 21 74
77 37 A1 FETdl &:
(A) ETEREITET 4T g Ay (B) wwifar a frere gfE &
(€) femifesw an sifagamar by ST A srEr
(E) 3Fwfa 54
66  Who introduced the final draft of the Constitution?
(A) N Gopalpswamy Ayyangar (B) Dr. B.R. Ambedkar
(C) Alladi Krishnaswamy Ayyar (D) Dr. K.M. Munshi
(E) Question not attempted
Hiaa i sifay w9 (2ve) s zr 4w o
(A) TH TTERETHT HET BT 21 ol . I
(C) FeTdl FITEETH = (D) =1.%. uH. gt
(E) 3uia wH
67 Which Fundamental Right was deleted from the list by the 44" Amendment Act, 19782
(A) Right to property (B) Right to freedom
(C) Cultural and educational rights (D)  Right against exploitation
(E) Question not attempted
M&‘m:raqﬁﬁm. 1978 %mﬁmﬁmn&ﬁﬂﬁm_aﬁmﬁﬁﬁmﬁmmw
Ay 1 AT (B)  &=eaar a1 sxfirepm
(C) witapfia i drearfires sifoerr (D) 37199 & g arfirem
(E) 3w e
68  gits we =1 wiy - fa=am e
(A) g+3fw ABY g+ 3w
€) Hw+3¥ (D) H+3fp
(E) \?ﬂﬂ?l'ﬂ?fﬂ'ﬂ'
69 ‘e 3 g -
(A) TegEd ABT @
(€) =ung (D) sr=rfive
(E) srafta o4
70 p- o U 8-
acqHa (B) ®=
(C)  SFemfiE (D)  =Efify
(E)  syafie 54
T19 | # 15

| P.T.O.
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® 9
(D) W

©
(E) e v

can do a piece of work in 45 days and 40 days respegtipely. They began to work together but A
s fter ‘m’ days and B finished the rest of the work in (m #I9) days.
eavgfe .

70042

Th e ofmis:
(ﬁ; E:; days (B) 5 days
(C) 17 days D 9 daﬂ

- 3 d
fﬁu;{;”;k;m‘;ﬁﬁaﬂuo i o qr ot e ) g?mmﬁmaﬂﬂ%%ﬁmm ‘m B

R s o

e # o 2 & ai B S FE F (m +14) B & g Far 8, dm FAE R

(A) gs fem B) 5y !
©) A? C _,(B'],‘ 9 m s
(®) et o
73 One mérning just after sunrise, Ankit was standing facing a pole. The shadow of the pole was formed on the
left side of Ankit. Which direction was Ankit facing? N
(A) CWest ®) Norys R
(©) Bouth (D) Eastey 2 }
(E) uestion not attempted ~ '
WWW*“W@WﬁWE@ﬁWWMWW#WﬁW T offy ifea 5
& @ i S m FH Eg aro (=) i
(A) i i
(©) Y&m /g)r ;ﬂ:
(E) srie v N ;
74 152 February, 2018 was Ty < ]
5 gﬁd‘y ursday, what was the day on lg'hapril 2019 7 li..
{C] Gul'ldﬂ)f (B) Samlay :{ =
(E) MBuestion not attempted (D) Thur!a'y :
At 15 %@ 2018 7% {
A TEaR &, 5t 19 arﬁmmqa»’ramq.mﬁq “‘a
(B) wffEr )
E) §rofmen D) TRy
75 Whicliblace of Sikar is famoyg g <
(A) SPipra OF 80ta indugtryy o
(©) gn.ml, o
; (B) Neg|
g o s
T i i
(A) vl fo oferz o, )|
Wiay
E)  Haen g B) oz
TI9) # (D) a2

| P.T.0-
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76

et freTerT STEE R f;’
-
(A) Fauitscan't be c:@}y found (B) It has been easy to find fnultsg
(€) 1t's very easy to find faults APy~ Its easy to find faults o
(E)  Question not attempted l'";
r r 3
77 A sum of money amoumts to ¥ 6,690 after 3 years and 1o ¥ 10,035 after 6 years on epmpound interest.
Find the sum. ™~ v
T G SN T ol 2w 3 a2 6,690 0 6 76 S g 7 10,035 &1 Seft 2, 7t et s e e 41
24460 >, (B) 4,900 :r"
(C) 5,000 — (D) T 4,400 o
[} _TI r
(E)  Question not attempted / St vy r-j
78  The price of a gold-bi%cf;lil is directly proportional 1o the square of its weight. A pcrsbﬁrf broke down the
gold-biscuit in the mlio_‘_(‘;(.'i £2: 1 in terms of its weight and faced a loss of ¥ 4,840. Find't:he initial price of
gold-biscuit.
ﬁﬁﬁ?@ﬁﬂi’%ﬁﬁﬁgfﬂ%w%aﬁm@m%r U afh fH WA frepe At 32 15 7ra  drzar
8 ST & 538 2 4,840 1 i 81 1 v 5 e o e B ey p-
(A) 7,200 = (B) 27,920 =
» v
(©) 8,000 ol (D) 27,000 -
(E)  Question not altc}ﬁbtcd | St v
o |
79 The percentage profit earned by selling an article for 2 1,920 is equal to the percentage loss by selling the
same article for ¥ 1,280,'4t what price should the article be sold to make 4 profit of 3092,
frftag e 1.9zoﬁaq%qn1ﬁiaawaﬂwﬁrmamsﬁe 1.zsuﬁéaﬁwzrﬁa?rwﬁmf_u:mma;maq
1 forw e e e s 30% Ay Y AT EE =
~ -
(A) 1,900 )8)/?’2',080 >
~ 4
(C) 3,500 "1 (D) 2,000 o
™ §
(E)  Question not attempted / FITA 74 s
80 Meja dam has been huiﬁ‘qldn which of the following rivers of Rajasthan 7 cy
(A) Kothari o (B) Javgj <y
-
(C)  Mahi o (D) Parvayi o
(E)  Question not nncg: ted £
Freaferfiae & Trareerrs o6, e 7t 9 AT A ST 1 .~
1
Eacuil — (B)  waré vl
(€ =r (D) o
(E) maﬁﬁﬂw
Tig) # 17 | PTO.

Choose the most appropriate English translation of the given sentence :
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sert soil.
ome ';'I_)Ol.il('ll.‘bt.ﬂ 501
- the mOst incorrect gtatement & e p -
" P e ellent for the jmprovemen
W L% ; | karonda are considcrcd exce
ick and K ad
ik . orern Rajasthant:
o Desert soil i found 10 eastern Rajas
=) esert soil 18 05 Ay
: py Deserl goil 1 dtsp'.aucd by win
{
' attempted |
(E) Question 10! i\ilump ' l.
: ﬁ i 2l
A) m‘;ﬁmﬁﬁﬁféﬂmﬁﬁa@mﬂﬁﬁﬁ; .
( 3 1 A Teegd 1A [
(B) o, e el 2 Eﬂ“ﬂﬁaﬁ

(E) ST 1

g2 In Ru}as{h;\n.Ta‘lchhﬂ?P“ wil ®) girohi
(A) Churu (D) Bun di
(C) Jaipur

dlife sanctuary is situated at -

(E) Question not attempted

qa@mﬁﬁramﬁamﬁlﬂmm___ﬂ;

3 feoret &2
T ®)
(©) S ©
(E) aﬂﬁfﬁ WA
43  Choose the most appropriate one-word substitution of the given sentence:
A portable case for holding papers, drawings, documents elc.
(A) portfolio _A/BT/ wardrobe
(C) briefcase (D) rack
(E) Question not attempted
g4  Choose the most appropriate word which is opposite in meaning 10 the given word:
Disparage
(A) _Detraction
i (B) Comfort
(E) Question not attempted
85

(D) Derogatory

Which of the following i
A i cllowing is the most appropriate for the Txcel sheet?
) Minimum | Character, Maximum 3] C, name of Excel sheet!
aracter

(B) M-.ln]-mum 2 Character, Maximum {9 Ch
(C)  Minimum 2 Character, Maximum 27 e

(X ) -“l-"[“llll | ClhﬂaL
b M ler ]
. ' Mﬂ".lﬂ\um

Character
Question not attempled 21 Characep
(A R W i e 5w
) | A, s 3y ot hm%h

B)  Spyem 2 avl, tfoEram 19 ot
(D) =y 1 @k, ifvram 21 f

18
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E——

{ a special effect is called that occur when you move from one sli
entation? (Choogeghe most appropriate option from below)

Effect - (B) Custom Animation 2‘,
Present Animbiion (D) Slide Transition [
| Question not pted (]
;'n‘qﬂiim ﬂwﬁm*ﬁfﬁﬂqﬁaﬁaﬁmﬁﬁéﬂwﬁﬁb
e e T _ =
y W (B) A o
5y e e Py s 2
gy sERa v

is the ut key that hides the selected columns in Excel. ™~

b e i e e ) o X

At4H O ® F2 ©

() Cul+0 (Zerdy™ () Shift+F10 ©
(E) Question not Kitbmpted / ST S :

Which of the ['o'nlowa statement is NOT true about the different types of MS Word Alignments?

(A) Center Alignment= All the lines of the paragragh will be aligned to the center —4
(By Right Alignmg}- All the lines of the paragraph will be aligned including on the right
() Justify- The o {eft side of the paragraph will be aligned including the last line. N

(D) Left Alignmentspll {he lines of the paragraph will be aligned on the left

() Question not dipmpted
&Hﬁﬁmmmaﬁﬁﬂmtmﬂmﬂqmﬂh%aﬁm:ﬁt;.
(A) mmqmﬂmmmnﬁmm

(o wit- Mmmmaﬁﬂdﬁmﬁfﬁﬁ'aﬁmﬁaﬂdﬁmﬁaﬁnﬁm%
(D) mmﬁzmﬁwmmmmﬁ
R L LI :
8 Who imposed Chanyiiri tax on the farmers of Bijolia in 19037
(A) Jugirdar Prith (B) Sadhu Sitaram Das
(C) Maharana Fatph, Singh (D) Rao Krishna Singh
() Question not gigmpted
1W3i,immmﬂﬂdaﬂﬂﬁﬁﬁwwm
sy gt v (B) @ € T AT
(©) e e ke @y g e
. € wptaws N

Who was the first GgJernor of Rajasthan’ (Choose the most appropriate option from belef )

2 19170042 1917004

tg; Mal:lmju Sawit Man Singh (8)  Shri Gurumukh Nihal Singh ©
e Shri Hem Bahagur Singh (D) Shri Kalraj Mishra o
) Question not Qﬂ.fmpted 1 h
“‘Wﬁm W T e 47 (ﬁnﬁ%m#ugﬁﬁmﬁ:) e

N s ety e e S -

o T e fig (D) s A

’ A W

# 19

de to the next during on-screen

( P.TO-



1 ﬁnﬁﬁfﬁﬁﬁﬁéﬁ?ﬁm?ﬁ —
a: d. e CEARED
C. HAMI{H
e. geoiad
3 fw o el ﬁﬁm‘?ﬁ:ﬂﬂﬂﬂ?ﬁmﬂﬁW

(A) Faeb3ic () oM

() Faet b, c 3d APT Facta Fe
(B) I %4
92 ¥fad A TH e T 3 P U 9755 S B &
(A) S (B) ddrTel
ST (D) IS
(E) uiE w4
93  Which country will host the FIFA Women's World Cup in 20277
(A) Brazl (B) Australia
(C) South Africa (D) India

(E) Question not attempted
e wfeen T =, 2027 i S 1 | 597 HO?

ARY R R (B) amefeEn
(Cy =T suhE (D) WA
(B) <t wx

94 FwiiiEn & vz fefiaa o 2
(A) SH i B qrent sr=ard B

(C“n % 3 T R By 36 TE H A 2
() 3w g (D) ¥ I TR ST 2l

95

e ¥ g
-mﬁm\wm‘qﬁ;ﬁf"‘mwﬁﬁm
LA T . o
P
= S Waﬁ-{mm%ﬁg (B) T hEdiae aret Sesiy
o Ry Dy U O F Y fyer

(B) a1
(D) o
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U

gy R @ s e o @
et qfeam T o g[ﬁ'qgaﬁﬁg“" W
(C) T Y HET 25
o a‘wgﬂi for the international AYUSH Conference and Exhibition 20247
e e e A 10
99 Which City was the venue e ok
(A) Mumbai, India e
(C) New Delhi, India (D) London,
(E) Question not attempted
2 e ST ST (AYUSH) §ier & st 2024 75 417
(A) T, ® 2E
: (D) w&,TH
oy i s, s
(E) SR W
100 Dadu Dayal was bom at
(A) Bikaner

(B) Kota
(C) Ahmedabad (D) Nagaur
(E) Question not attempted
% T o S S T |
(A) e (B) wrerH
Sy SEReEE ° (D) AWICH
(E) 3FwiE w4

101 The most appropriate statemnent about thalassemia is:
(A)

Thalassemia patients are able to manufacture normal haemoglobin,
(B) Thalassemia is caused due to defect in RBC producing genes.
(C) Thalassemia patient requires frequent blood transfusion in order to survive,
(D) Thalassemia gene is present on Y chromosome.
(E)  Question not attempted
eefferen & wreifirm et v @A 5 =AE A
(A) et it amrer defas s S w5 E #)
ABT” SR Ht (RBC) o0 o At S # ﬁiﬁi%mﬂmﬂﬂﬁm%}
(©) - et v i e w36 e AT e o 6t v e &
(D) sy S o v guftur g 2)
(E) 371?!&?1 s

The genes associated with colour blindness are located op
(A)  X- chromosomes
()

—

) Mitochondrial DNA EBD)] Y- Chromosomeg
ll-.}' Question not aige mpted Autosomes
T:qu*,:;:?"“‘———-_ T fegd B @

'T:T m#mn (DNA) i};)) Y- Tomgy

“"'I " "I%mﬁ?

2]

1 D1 &>




103 Inthe following reactions -

Bt SRS A § -
(1) 25024‘0?_’{—_-_—-_‘—2503

)
(1ii) Ny + 0, I“T—__—q—_llzNO

" =t
Which reactions oceur in presence of catalyst!

|
e s 3ee o Fafeerd 3 Eid €7 | = ’
. L By (i) and/aT (ii)
(A) (i) and/d4T (v) ) gl
% | P (D) (1) and/d=T (ii1)
(C) (i), (1) and/TAL (111}
(E) Question notattempted / ﬁﬁﬁﬁgﬂ
Alkaline KMnO 4 + Heat |
104 CH,CH,OH ————————> CH3COOH !
In the above rcaciiqn.halkalinc KMnOy4actsas a i
(A) oxidising agcn!; (B) Catalyst
(Cy dehydrating agent (D) reducing agent -
(E) Question notattempted i
&4 s : —
CH,CH,OH —"8KMiOs * 51, oy .cOOH =
. ) - .
SO SATHATH ERE KMnO, % FY H EHE FEAT 2 g
ki oy
©) Feieimm = D)  qarE &J
(E) JIAMESS ) ’
105 \‘ihich of the followifig pair will give displacement reaction?
(A} AgNO; solufioh and copper metal =
- (B) CuSO; soluti ot
(€)  NaCl solutioh-dnd copper metal D) FeSO4 fwﬂ'!]l-lllmn and silver metal
(E) Quesiion nmlaitcmplea_l U, solution and copper metal
Fr=fafem & & = T /et et safifirar 3 0
(A) r\gNO;fﬂEﬁ!{q"Fﬂ(mtm) 'qTi[‘ i 1
(©) Nuctfamqaihmmqrm@ (B) cUsmﬁmﬂqaﬂx?ﬁt(ﬁrﬁna@
(E) =i wa B FeSOdﬁmﬁaﬂtmmm
106 Aquaregia 15 g E'rrisl\)l]v . e | 3
S Prepared mixture of concent it
————  TeSpectively, “Nirated HN ™ :
‘-“"“Nuaz*ﬁw;:"'e? - Os and concentrated HCI in the ratio °f
AT B FHCL =) s
d N — ¥ 3 -
(A) 2 e 3 firetrare e Ecicl
© 3. : . Wit_ﬁ;m e BE
p = h —("BT- 3:1 o))
i} 0“ sl » $ .
107 A ur;:l;t;n nm-aﬁemmud f 3 e D) 1.3 v
-by-st
A) Snl"lwil-r: ;:P E”%Ldums for accompligh
il
tf' Algorithm "8 a tagk 15 known as N
(E :
oy SSion notay empled 1(';)] tierdvars Pm‘
m P
(A) “'W?J:{T::[ 7 ff—w.w e Firmware Program 8
AT it ) O ~
& e - (1) Fed & 1—
9] 4 i Dy BT iy "““‘,_-ﬁ—-_'
FHETT Sy

(i)
(iv)

N2+3H2;::12Nﬁ3
I‘!:)_'%Izﬁzm
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108 Which of the following pair is NOT correct about the keyboard keys?
(Choose the most appropriate option from below)
(A)  Command Key - Caps Lock

(B) Punctuation Key - (:) Semicolon
(C)  Navigation Key - Page Up (D) Control Key - Tab
(E)  Question not attempted
FAE A o B o e
(A) FATE #I - Caps Lock (B) 9FWH #I - (;) Semicolon
(€) ﬁﬁlﬁ?ﬁ(ﬂﬂ'}ﬁ-%g{: Up Dy FgIc # - Tab
(E) &afia wer

109 Which of the followin

£ is open command in MS office?
ﬁ%ﬁ%ﬁ@wmﬁmmﬁ?
A crlso

(B} Alt+0
(€) Shit+0

(D) Tab+0O
(E)  Question not attempted / SFaf gy
1o ﬁﬂ%&ﬂﬁﬁﬁqﬁmﬂﬁgﬁ?ﬁﬁ-
(A) 7T - ity (B) T&-wg
L7 23T - Wiy (D)  Weer - qayer
(E)  3rafa gy
1ty ﬁn%ﬁgaﬁmmqﬁ%-
(&) fm /(’B‘Tﬁq:{
© umx (D)
(E) ﬂgﬁfmg’;
R When ajr in between the plates of a capacitor is replaced by mica of dielectric constant 4, jts capacity -
(A)  reduces g Lt (B)  becomes 4 times
©) becomes 2 times (D) remains unaffected
®) " Question not attempted
Df mmﬁiﬁ%ﬁ%aﬁ?ﬁmﬂﬁm.f&aﬂwﬁmﬁ.ﬁmﬁmm&ﬁ.ﬁmﬁﬁﬁmﬂm-
A S ABT 4TET R SR
el O 27 & ey (D) sfeafia i
©) iy
W

ho ig known as the 1,

ather of the Indian Space programme?
7 :
-(.I Dr. Homi dehangir Bhabha (B)  Dr. Satish Dhawan
) Dy, Vikrs i
‘ 1 ram Sarabhai (D) Dr.Ap J. Abdy] Kalam
Question noy attempred

y TN % 3 3 w9 F19 e &

! f e

T e ety (B) 2, wefrey ey

D) = udy ST oy
23

| P.T.O,


https://t.me/rsgonline

P

Vhich dialect is spaken in the areas of Churu, Jhunjhunu, Hanumangarh, Suratgarh and Ganganagar?
whic jalect t

<
(Choose the most appropriate option from below:) 2
e & (B) Shekhawati ¢

8 \ | |
() Marwari | (D) Malvi

]
-
(E) Question notattempted

2y dr et ﬁmwwaﬂtnﬂm & aitet STl 82 (Fer i & A 3ug e 1)
(A) W8l By Fr@rarer
() O (D) Gl
(B) ST o
5 What is the reason-for the popularity of Allah Jilai Bai?

{A) Mand Singing (B) Kurja Singing

(Cy Playing instriment (D) Dance

(E) Question not attempted
ST FeTS T L SR T =h R 87
iy wETER (B) & T
C) dmd o ()
(©) &5 A (D) =TE
(E) 3HmiE ud
116 Who founded Ramaéia Panth?
(A) Mallinathyi B
. (B) Harbuji
(C) Tejap -
. . (D) Ramdevn
(E) Question not qlu:tltmptcd g I
FTHTEAT T = TE] R o 0
(A) WieoH - 2
€ FMA f b -
(E) ﬂ?ﬁ'ﬂ?'ﬂ'“" /U})/Iméaiﬁ v
117 Which one of (i i : I'_l.
ie follow i b
(Choose th - ; Wing Indian Paralympian has won two gold ’
¢ most apprapriate opti - 0 gold medals in the P i :
— 2 ‘ 2 2 ?
AR PUOn from beloy) & ralympics 2024
4 . ’ b ! | <
: Devendra ]l':aﬂjharia (B)  Yogesh Katuris2
(E o
) Question noj altempted £2) = Manish Niirwai:—‘
e i g »
e T e i "
2 { 2024 3%
C) Za= ﬁﬁl’“fqza;;ﬁﬁ ?:'j I .
z gt B) =#n . qﬁmmﬁiﬂﬁ
E) ) 4 “’
(E) =emtrg gy
9| # =

24



v

{18 Match List-I with List-II

List-1 (Country) List-11 (Capital City)
a.  Mauritius L Victona
b. Seychelles ii. Jakarta
¢.  Maldives iii.  Port Louis o
d.  Indonesia ‘ 5 iv. Male <
-1 77 fore -1 3 a9 s o
T omEiaem O T @ E)
a  HAEWE O i, e -
b, WIeH ™ ii. S 2F
c. HEE ™ iii. 9T a
d. iflaiﬁm ) iv. mﬁ —
Choose the most apprap}ijue option from below:
=8 & wad suge fees 5 997 fifm
(A)  a-ii, b-iv, c-i, d-iiis a-iii, b, c-iv, d-ii (M
(©)  a-iv, b, c-ii, d-icy (D)  a-i, b-ii, c-iii, d-iv "
(E) " Question not attempted / 3TAE 94 o

119 Rajasthan State Allied aﬁ:i, Health Care Council is constituted under_____Q_

(A) National Allied agﬁ&]!eallh Care Profession Commission Act - 2022 >

(B) National Allied agd{Health Care Profession Commission Act - 2021 "’"f

(€)  National Allied an@Health Care Profession Commission Act - 2023 &)

(D) National Allied and{Health Care Profession Commission Act - 2020 i

(E)  Question not attempted

TSI £22 S19E U Revahat HI3ael 1 Ted (1 UF2 & aaq {37 o 2. A

(A) T 31eTEE Uz Eebraar ST FHIE U - 2022 N

BT T 3reieE U Feudat AT FHIE URE - 2021
(©) T s1emee v Eekd ST FHTH @ - 2023
D) e ez Uz THT FHTIE UFE - 2020

o D) et g

17004

The Government of lndi_allic anni impl '
s planning to implement a new highway 1o
'{':?““‘UEY'-’ (Choose thf:’_’ r!:iast appropriate option from below) . r:o]]ea:ﬂ‘:m system based on which
Near Field Communication (B) Global Navioar: g
r av :
€©)  Radio Frequency Identification (D) Barcode Sc:lgal'mn Satellte System
‘m’_ﬂ Question not attempted =
FIT U 7 st smevr Worrett 9t forem a5
L S
“ﬁivzﬁ{ﬁﬁm
ORI (B)  Teirae ey ﬂémﬁﬁ,ﬂw
iy ™ o) Ailin
Where ™~
o has DRDE condblled a successful test flight of 11, I o)
(ay April 2024 ¢ Indigeneous Tecpp, Crui
TH) ((:; isha (B Ty Cruise Missile (rrem)
) Kzrnn_mka N (D} "\“_dh"ﬂ Pradesh
QueStion not atyeeq ) Rajasthay o
B 90 2034 71 eelt ity o e =¥
©) oo o “TCM}WW%
LT.O. b () - (B) iy gy o Fl foa um
# o -
L 25 [+ )
r~
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122 Todgarh Raoli wildlife Sanctuary is located in 7

(A) West Bengal (B) Chhattisgarh
(C) Rajasthan (D) Assam
(E) Question not attempted 1
g A 9 ST I ¥ fead 2l
(A) SfEm T (B) BdETE
g s (D) @
(E) 3T 94
123 Who Im;hcm appointed as the New Chairperson of CBSE, in March 20247
(A) Rahul Singh (B) Vinay Kumar
(C) Subodh Kumar Singh (D) Navneet Sahgal

(E) Question not attempted
o 2024 ¥, €. <. @ § 3 70 7ore 3 ve 9 foR Frg (o TR

(A) TeE e (B) famasam
ey wE T fw (D) AT AETA

(E) Hﬂqﬂilﬁ 94

124 'Who became the first Indian to win a match in a Masters 1000 Tournament on clay courts?
(A) Nitn Kirtane (B) Sumit Nagal

(C) Sagar Kashyap (D) Ramesh Krishnan
(E) Question not attempted

=% (i) #E # rezd 1000 Zafiie 3 e Sffert ATeY wuW WA FI
(A) T e (B) gfHd AT
_,QE_"]/ TR 399 (D) THI FIH
(E) SHwiE 94
125 ‘P’ 1is =nire % x
is the centre of Circle. A tangent is drawn which touches the circle at *M’. If £ BPM = 70°, then what
15 the measure (in degrees) of £ DMR 2 ;

U o9 &1 %2 P 21 Us Do) - . g
gt Wil 9Tt & < g @ M gz eas) @ 21 afs 2 BPM = 70° 2, @ 2 DMR &

Lahy
H

(A) 60°

(Cy 750 e

{E)  Question not altempled / Swf gy i
-

126 If cosec® + cotO

= M, then fing y 2
. he value (,r_"l__—_l.
ﬂf’.LL)ch{)+Ct1lE]=mkﬁ.[£li:_1,_ m2ip
L~ cosd mZ 31 A 9T sy
(cy tan@

i (B) cosecH f
(E)  Question not anempyeq /

TI9| # AT oy () sin®

26
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g1 If J§E+6J§ =22.35, then what will be the value of 3\/§+ vI257

o
uﬁJﬁﬁmJg:g}‘!.}S 2,71 345 + V25 1 am wT R <
o
,W/(' 7.88 < (B) 22.88 g
© 2588 = (D) 16 ™
(E)  Question notattempted / AT w4 g:
. e .
128 What is the dlfTEl;Q_I].CC of Median and Mode for the given data? i
s e e e forw mbarn et argere i 7 i 7
90, 94, 52, 68, 80, 94, 52, 65, 87, 90, 70, 52 g
0
(A) 25 <t (B) 27 &
€ 29 o 2 o
s ABT 23 I~
(E) " Question not attempted / Ao vy i
W =L herdd 4 3 2 g v}
Y ¥ an - r~
A -'l—ll+l: 1,3y +_1'3 =7
y x o
(a) 1 , B) -l =r
-
C) —xy S (D) o (-
()  Question notattempted / 31FaRa gy ™
q |
M The [ 1160 1 - "))
hat € value nf[ oa3 72 - Tog, 72 * oz, 72] s : i
l 1 ™
£l gt e e 3
‘_logj?l og, 72+ k}gﬁ?ZJ T HH 2: o
D N (B) 2 s
IC) 3 = o
— M) o o
i"\-.

: E) Question niof attempted / A v
LW : ™ 4
F:h° given figuee 3 PQ || RS, £ZQPE=128°and £ PER=148°, then » spp er !
: 2 ) qual to:
T ferr 3, RO | RS, £ QPE=128°TE ~ PER=148° 7 SRM arrar%ﬁ

N

<

o

o

,enf" ~

%u H

ay

(D) 8go v
27
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rea of a trangle formed by 2 line 2x —~ 3Y
4 square units
10 square units
Question not attempted : :
FrSerieh 31t

x-3y+6= 0 FE
y 4 Eul '53‘7"&
Yy 10E TR
) S v
ake the given St
‘hen decide which of the giv
statements:
No paper is car.
All cars are marker.
Some markers are erasers.
Conclusions:
1.

1L
Only conclusion 11 follows.

Neither 1 nor 11 follows.
Question not atte mpted

atements 1o be true even
en conclusions

Some papers are markers.
(A)
(C)

(E)

6=0and the co-ordinate axes 1s:

4
B) 7 square units
(D) 3square units
s i s 31 &Pt 2

3 ot

JBT
3 ot g7

(D)

cem to be at variance from commonly known facts.

if they s
follows from the given statements.

logically

Qome cars are erasers is a possibility.

Both conclusions I and IT follow.
Only conclusion I follows.

(B)
(D)

o U Rl =0 T WA Aai I T I qeA & St o s 8, 36 ged e fEe e st & ged

o Freret = o )
wu

ﬁgm‘eﬁﬂ.qﬁ%\
Tt = W B
g‘ﬁgnﬁxwmﬁ
g
L @msﬁ'{imiiﬁﬁ
i‘qs;.iu'-‘éﬁﬂ‘{w_ T
(C) qﬁlaﬂtﬂﬁllﬂﬁﬂm‘ﬂ:{
(E) it ws i
In a certain code, ‘he made 200d mop,
2

SaVE SOme money” is wrj
Writtén as * ~
the code or *some™? as ‘98%7¢

Fof fafre #1e & he made good g

TR

134

‘must save some money’ ney'
i ey’ B 9876 et T ‘14650
LR T . 9876" frrmgy 5* ferar
M" ‘“mmm mm%'.beguodm%' ‘he mu“begbod‘
© 9 fve mace*qh-zqm,%maﬁ 19421 * ey wmar 2,
(E EIGI I
e ) S\:munml altempled | (B) g 81 ‘some’ % feC
Vhat, wi hhm“““m‘tlin Uy ':D] 6
3 e i follgy,
.20, 3 Wi :
A 9, 85,7 Ty OB Seriey)
iy 1
(1)
99
©) 25
28

T R

ABT Fred | w
(D) m&iiﬁmm%

STET Fay

, ‘he must b
save p : = ¢
grace’ g

¥ 1S writte
n ik 2
» 'be good 85 °1465 ood® ;
B 1S Written as ‘942", ‘must

written as ‘2483" :
3. Which of the following is

[ P.T.O:



“Pivot Table" is a feature of which of the following software?
(A) Microsoft Word

(C) Microsoft Powerpoint

(B) Microsoft Access

(D) Microsoft Excel
(E) Question not attempted

e 1 & o e o e ferda firae 2wer &7
(A) WTEHEER 95 (B) WIS UHH
(C) WIZEIETRE TTatuTg=

(D)~ HTEAHIHTRE T
(E) SR w4 }’/

Which of the following is an Input device?
(A) Prnter (BY Mouse

(C) Visual Display Unit (D) Speaker

(E) Question not attempted
Frrferfiaa 3 & # Ht g9 feams 7
(A) frex

(©) fasiere feast afe

(E) SFwifce W

By W3
(D) wfiEFt
18

Which of the following command of Ex

cel will take you to the previous sheet of the work book?
et 1 Priferfias i § i &1 FHTE sieh i qftae i fret ofte e s

(A) Alt+ Page Up
(C) Tab + Page Up

ABy~ Curl + Page Up
(D) Curl + Shift + Page Up

(E)  Question not attempted / FFIAIT 54

9 Choose the most apprapriate option to fill in the blanks:

He looked at me with horror when 1 explained that I was

__ double agent. (x = blank)
(A x.a (B) the, the

O —the, x (D) a,a
(E)

Question not attempted

W Clitiae e mat? appropriate option 10 fill in the blank:

£ Ineed to buy eggs but haven't got money 1o pay for them,
s (A} any, some (B) all, little
©  few, alittle )D}" some, any
:Eg : (E)  Question not attempted
' T -1 gt -1 @ mafera i
i1 (35 71eT) A1 (377 g
a o www e AE ¢ L srary
b. ﬁm’aﬁaﬁiq@qﬁﬁ . Fag
c. N ARA Al @ . =
4 o o e ) A R IV. 3
% oy o et 3% @ i 3 29 AR
a-1V,b-1c-11,d-11 B) 8-1VH.1ras
[‘?. s-NLb-Le-1,d-1V (D) a-l.h-ll,[:fl\:[’:l‘.!;ii
5) " = :

29
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iy e &
2 ﬁnﬁaﬁaiﬁ?\m?ﬁtﬁ o o g

N] frar § sreTEd
o R oY forarll A A

® S
1 aqﬁxﬁa%ﬁﬁaﬁaﬁ T S &
w e ® W
© P oy wff
® SR
144 Rakeshisson of Aman's father’s S!
Aman. Aa:c-\u: is father of Tanya and grandfather of Rakesh. Disha is Wi

9170042

Gster. Sonu is son of Disha who s mother'ofl Gopal and Grandmother of
ife of Aarav. How is Rakesh related to

i <

(A) Nd (B) Nephew

Cobsin <
©) (D) Grandson O

(E) Q\%ﬁm not attempted

[‘3..
@mﬁﬁa@ﬂﬂﬂﬂﬁ%\ﬁ?ﬁmm?%ﬁmﬂwﬂ% sivchmr 0 e & SRE AE
mm%mhmﬁmmﬁhmmﬁw%wmh R

(A) R A (B) T (D

(C) W BT W
() o
/en options select the box that can be formed by fi o..
o«a&wﬁmﬁmﬁmmﬁ&q%ﬁ% “‘“;‘S,Z‘;j‘;‘;“g"“ PRI

>
v~
h
o ]
p-4
L4V
”6 w
&) ﬂ ()
@
J ®) ‘ o s! =
el 6 9
®
(E) - ©) @ x s
n nol atte
s e e <
(A) s+ aq
g o
() m B e 2
™ # ©®  ww+ o ol
U‘iﬂ
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147 Kolleru lake 15 situated in which of the following states of India?

(A) Rajasthan (B) Andhra Pradesh
(Cy Tamil Nadu (D) Odisha

(E)  Question not attempted

F1E el i & feterrEd o 8 o aeg o frua &2

(A) TSEdH )JM/ HIH T30
(C) afq—w :: L [)I HIZ7
(E) S w4
148 Which one of the following west flowing rivers has the largest catchment-area?
(A) Periyar (B) Sabarmati
(C) Bharathappuzha (D) Mahi
\ (E)  Question not attempted
! e S [y - o
W &/ =t i afem 2 311 e areli 121 &1 a9 721 semeor.am 29
(A) ofEm (B) HmETEdl
(C) vz APy WiE
(E) 3=t uy
149 : s S SUAR Arefeatirat ol ol AL R AT . g
. Mushroom rocks, shifting dunes and playas are features of which of the following regions of India?

(A)  The Coastal Plains (B) The Indian Desert
(€)  The Peninsular Plateay (D)  The Island
(E)  Question not attempted
B A, A T 26t 37 o W 3 frefata 1 o & i fergrrand &
(A) Tfgie : -

) 219 Hars .—ﬁﬂ’ﬂw e
(C)  wrrdm e (D) g
E)  saafay

By .
A }“J“L‘hcuiungu Peak is situated in which of the following re .
: E regions of Himalayas?
A)  Arunachal Himalayas B . 5
yas {8)  Himachal and Uttarakhand H
) Kashmir Himalayas (D) n : 1and Himalayas
: arjeelino « .
(E) Question nog attempted -8 and Sikkim l-l'm“l“}'ﬂ-“
¥ faren - S A e .
| fares Fﬁmﬁﬁiwqﬂf&manﬁf&m%)
AV s e

i - (B) f?qmﬁ .

) =it fimreny 1 ITTEE femreg

P.1.0- N -
} '|51I! s iU s
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